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Quomiflufley sresr GCLs&letTperrr.
(@) (b) () (d)
o 1 @ B
B 2 & @ )
€ 3 @& 1) @
@ O G @ @

52. QuUITUKS &%

mreom &t
(a) Frenev (@)eThSewTIIGH )
®) Fpd (2)
©) 2B SHIT GLomseTyhsHeT (3)
d)  yLigieL FSLOTEsT (4)
(a8 (b) (o) (d)
M) ) () @
B 3 @ @ (1)
<G @ O G @
@ @O 2 G @
53. QuUITBSBI%
SJCEET
() yassdensullesT wmiInLwsaE (1)
NSFI_1_eurr

QFpevLowns  (2)
(BbBeuIT
augeuTmley (3)

(®) Hgusseiomg
FTTETLOTS (3)
(©) ya&Fseilens
RGO BUFSEGTD
(@)  wrrlimie gy WITligeolL & (4)
BESEEN G -
(@ () () (d
&, 0 @O 6 o
& @ m O
® @ O @ 3

CCST 12

,;%Qrﬂwr'r
(1) ydlepr
<2/ GBUT GUBT 1T
() YT BSHIHIHT

3) @pav. Y

(4) Q&THS

BTGV

Q@)Lowih eTHEIFET FTeviguled
Crwirr (sl

Figs (LpsSIHser

LTL &) (pLp&LD

<y Ffluirk
FhST JTLOFTLE)

LOGHSH)
9/ B5LFFeLprT S G)

F.& O FeOeVL T



54.

S5.

56.

57.

58.

59.

60.

“ HIUIGUT GIL_(LPLD DY(LPSHTEHLD”

2yt Caxmig 1’1 GFmevadlesr @evdsenurid wWTHl ?
(A) @Ol QuwlyFFib

(B) @iy ellenaTOwFFLb

() er&lirwenprs QL yF&FLb

N 70050 L a&irweopls QuILGTEFLD

OFrpaamer EBGUBSS C\FTHODTL_TTHESH
(A) & Geurig evenev (LpBBT euLpdhsHLD
B) Gourigevenev LphBi aupsHHLD LH(BD
(©) aupdad waHB2 Ceurigebenav LpbbT
@) BT eupssid sEBs Gaurig sieve

@L_L_ID 6TaTLIg) eTeuauensLs Oliwrg G)Fmed?
(A) Qb ®B) Qumruper
(C) wLatorLy Q7057160

QFrhaemaer @upiGLBSE CFTHODTL TGS
(A) 2wreney 2T SHID 2. anlplit) OLI(hBTEr
(B) QuUUBBTET 2 anpli et D wiTeney o 68T SHILD
(C) oawidgb GUIBBTET 2 eLpLIesT 2 wiiTeney
2 OLPLILIGH 2uIITED6Y D eWTTd LD ONI(BBTET

&7 euflewsFLiLilg OFmhaener &1 GFuis.

(A) Ggereud, GlFeremibLiyib,epeml_gLb,O)FerAuiLb
B) OFererTibLiy,G\HemfiLb,sper._gLb,0)BereLD
7 U apaTL_&Lb,0Fer b, Gaemerribiiyd,O)SeTeILD
(D) garL_&Lb,G\serMwLb,C)FemevLd, L\ FeTGTTLDLITLD

&g auflensliLig GFThHEFemer & OFuis.
(A)  Smib, Siheued,Ssmed,06)% miLh
(B) Czpeb,0)s myLh, &i(HaIeh,BLb
©)  SIBweL,ELb,CHmed,O)% miLh
W Db, gieued, 05 m11p,Comed

‘geop’ eretrenid Gourrd GlFmevedlesr ellenarGidFid 6T(Lp Fis.

(A) empuw "B Seopsev
<2/DDBb L) D) empBSeu6sT
13
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61.

62.

63.

64.

65.

66.

OLIT (B S5
ulquwed T & 2erer GHTLeng uliguwe 11 v Qurmsd G

G&THSSLILIL_(HeTeT ST HFHeO6T S )& T a5ur(h) Friwmer
aflemr_eowg CxibHM.
L1l 1q uicy 1 L 19 wiev II
() &SmuyLb BeNF&HL_IT (1) yMFxeul. a
(b) &f&L_ev (2) eumrpb af®H '
(©) &SL_(hogLbd (3) g
(d) LYereTed a6V (4) weTefl&ant b

(@ () () (d)
e @ o
@ M @ & @
© @ G @ (@) _
@ @ GO & O %
Filwmes QU6 6T(LDHI%.
“gyestewstesi)_tb eflenr b mi 9 Hirest O)FesTmmesT
9L_aloewey wrbpevevTd sL_hg Gum&)”
9 Quimmer &BILISBHS

(A) Loemev B)
N =1 (D) ﬁ%mmﬁ
OINGEETD
blevLd vy Guirrr
(a) &DEHF (1) Cuwewrmer
(b) (LpeLemaV ) eruwGur&wri ,
(c) LohSLD , (3)  LbeLpUGHTITIT
(@) @muiged 4) &6t

@ ®) © (@@
7 LN OEOERORRE)
® @ @ @O @
© 1 3 @ @ - ;
D 1) @ 3 @

“LoctreTeustt eurii(LpgHev ©O\HMlSS &1 LoewfGur”

LoGiresratr eumulley O&EMSS Locusi) 61 % ?

CICEET (B) LiGuarrih
N wrenfldaid (D) GsrCGLogsib

..GTGTD GUGTEeY 2 FNWITe FMTLiLygTensTid Hleopayhm s
(A) FSEHTE 6UGTETED (B) FemiL_wWilJ GUGTETED
N oy ywETALD (DY ' FHLHT T EITEHSF)

“© 1 _1be®LI eueTTdH@HLb 2 umuith yBliHGs”
@ume_ev eurf] 61k mredley o 6irerm &i?
(A) &AL Loewm DSI SLOLD eLpeumudyLb
€) Gaeurgib - D) PBunssid
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67.

68.

69.

70.

71.

72.

Camglt QL _sews LTss O&Fis.
wpSOBTETETTUST D (LpLHEOLOWITSHS: GFlenl _&Hallevemey
UmSETL (b TG TERID MT6L eumuievTs

LeoLpws 2 6o revseney GopGHmersearTs
GGUGTTLITSHESET Glewi_ FI6ITGIT 6T

(A) 108,21 (B) 107,21
) 108,22 (D) 106,20
wlguwed  leb oedrer  Qsmirsener Ll iguied ey buarer
LG WIGUITHCOGIT L] Qurmpssd GG  Casr(h&Esii’ (peTer
Q& TL_ewgd GDIILNH.
OF 1 /8, Qg weurt
(a) HWPH el g yastm (1) FBSIT |
(b) BTEHLD Qetraflenawimed (2) SBBTRYSSTEFT
SLOIPLIT LD
(¢) GTGhI&HL_GiT L1Gush) Qsuig (3) LoTessSFHeuTFHIT
G 1uGs
@) gflenFwred @ewFliweTmis (4)  SHEHTRIFLDOBST
()etres(LpsHTi
(a) (b) () (d)
(A (2) (3) (4 (1) .

3) @ @ M y
<€ @ G @ )
O @ 6 O @
ereumd  @evssentss  Gplligs@l  QurmpbsTs  OFTmeS
Cairs. .

aSewat 0%
(A) Qi@ sL_6H (B) OGFLiclener
N Caereg (D) GU(BLIETEYV

letreumd  @levdsenrd  GUllydGL  QuUTBBSTS OFTLemeVT;
ST D). »
2 faG\FmhHmmL_rr '

W? et FHeeT (B) LDGLGVGV

(C) mevflmg & D) HL_Fens

e Caiis.

“upssLBlp” eTenib GlFmevellelr @Qevdsmend @GPy W) ?
(A)  flevcrd o) Tends U USTLS6ETeans

(C) 2 euemnsG)BTenS (D) 2.1beminSG TS

Quiflu ygreTsd (wpss BBETNSSTS TS GBS b
Cumgy wmiby Besiguigy) ...

(A) o 6irerismedsy W7o siremiv ensuded b
©) ymienauileh (D) ymAisTedlsy
15 CCST



73.  QuTpd 5.

Q&FTev @i (men
(8) BALOLD (1) ey
b) @F (2) e
© Oeuphy (3) Smpgev
@) Garped 4y Ouwrr

@ O © (@
ol 3 @ O
® D @ 3 @
© 3 @ O O
© 2 O @ 0O

74, QUIT(HS BI%.

GlFmTev QLT (meT
(2) 1Olg oD (1)  &l(BLOGESTLD
() 2oy (2) g
(c) eugyemey (3) oeumiemLD
(d) FBemaeu 4) euadevLo

(@ () () (d)
A 1 @ 6 (4
By 2) (1) (4 ()
3 @ 1 @
® G @ @ O

75.  QUIT(HS &I

GlFmTev @\ eir
(a) Hemev , (1) &Heuenav
() emLiujerr (2) aYev
© LG (3) Goupm)
(d) &imed 4  Oupenip

(@ () () (d)
% 2 W 3) (4
2 M & 3
© & @& B @
@ @ 6 @ O

76, QILIT(HS &i.

L ) ETevT@ilwirt
(a)  eLPGU(RHEUIT (1) &burm
(b) sdbIsSHLgesss]  (2) PLA_FImSHT
©) Hevev 6T(LPLIS 3) ysGrbs
@ mer©euessrm 4) QFwEQ\FTESTL_TIT

(2 (b) () (d)
(A (2) (1) (4 () N

2) 4 (1) () ¢
© OH @& 3 ¢
DG 4 & @ @

CCST 16



77.

78.

79.

80.

81.

Q&TL_(mLd - HTL_TL{LD.

@ &HrL_ri
o ufleng 2 ewITeney aueTTLiL & HLEIGLD
o 1_1bewis cuanTSGaHes o udir
euerTHGHGewr
GgarllGev eanpli QFBgLlLL6ST
FeaiCs b FeviiBlHTyLb
2 6TEHeU)SELEVITLD 2 WITEYSTEITEY

(2)
(b)

(c)

(d)

FTeT@m
BlmeLpeurt
LITT &) HTF b7

Q)
@)

B (561 61T (GYBGUIT
&FelLoeuf]

3)

(4)

(@) (b) (c) (d)
M @ B .
@ 1 @ 3 ¢
© 3 @ @ )
M @ G (@O @)
LT (S HIS.

Gt N 6V
(2) &r.Geudrguirr (1) &SL_ey@hLd HHSFTLLILISeTemaTI LD
() LGOI S FH6T 2) LoEESWITSSTFUGHT HTHev
© &ugTEGsrumees (3) GDlesFSCsHet
(d) omeoh Glmeyesresr  (4)  @dlguyio
QG hE
o2 ) @ )
<€ @ & @ »
@ @ G & M
QL (B Hi .
& & M

(@) &FpsTw (LpeTGeThHmLD (1) @urTegGsTumes
(b) &GIbL euTLpSHenHull6T (2) gmrgorgdl

(9)G0T LI G LIBIFEOGT S T [)IGUGHT
€) auaeuTasT O\FT6ITeH&ES:6HT (3)  TEBTSHEET
(d) Ll Gwimest &5 HIGSHET (4)  &hHT TTFTLE

(@) (b) (c) (d) -
Ay (4 3G) @ (1)
AERE
o O @ 0

QT (BBHTF OGIFTeVEMeVS a;af'm_gﬂa;.

LIGVGVGUIT HTeVS I GQPEINIAKIGET eLVITHENHE HEBSTL M.

(A) WOTLOGVEVLTLD (B)
AN screvss Quiu Casmuish (D) &TEHe

QUIT(RESTSH FIN6VS: H6ETL_1)%.

LOTLOGSST (BT N

HVTFHTHT CEHTuie

L BN S FHTTEV 6T(LPSLILIL T 6D 6T GTGW FHeTL_pl%.
(A FTLNGLTFETLD wpeir@nd Comagmeyih
(C) QUumesTeaT&iTLD (D)  Fevwirmewsf]
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SHMTEVLD

2 Qb mBIDHDITEET () —
LIGVGUGUIT HTEVLD
N GUIBHT BITUIGSHIT

Ggﬁépfra;rr@)m

82. QuUTHSHIS.
&b
(2) HL_eaTTHeGHT F)H6y(HeURSeT (1)
(b) @Yrrwmwest Feougress ST _Flser (2)
(c) setwrensr& Flevev, ©lHTVSILITED6 (3)
HTGULD
(d) Lo FBTHeNeT 2L [ FnmiseT (4)
(@) (b () (d)
gé? 8) (2) (3 54)
) (4) 51) 3)
(C) (3) 2 (1) (4
O & B @ O
83. LIS L 6T(LDSIS.
[BITM &[T GBI LD
(A) [BIT6Y + SHFesuTLD Wjﬂm@ + &JEnTLD
C) BTHG + HTESILD (D) /BITGIT + &IJeoBTLD
84. FHHLI LNenp DD UTHFENIEIFENETS HEEurL_151s.
1. suihHmis HL 19 @l6L FETEHST LOMIBSHI D MihIF)esTITG
2. sWilmy &L 19960 setrenasT LONBFHI 2 DEIGFIETTGHT
3. Guenr s Cuds: WB@ps LweaTd HTeasven gy
4. . Cuenr_ Cuds LO&EHS LTS FHT6Ue060S5
1 wmmo 3 B) 2 wpmyb 3
(C) 3 wpmib 4 (D) 1 pmyd 4
85. eupeudm GIGTL T 6TH ?
(A)  uenew [@emeuiimed gneng Grimi’ L et
LIGHET QRENGUIITEY dneny GouulbHerrr
(C) UGHET (QENUIWITE) FaeOT HL 1. GOTIT
(D) LIGnET QENEVILITEY FnedT (LP(h&&HesTiT
86. FLDE SHTEWILD ANewL_FHefle) 6T &I FWTCT S ?
W 7 - Qs (B) 9 — TBS
©€) Csm — Gasmygib D) Cxr — Q&u
87. el Gaumyiir(h) oMl g FRwmes QLIT(BEeDeT 6T(LpHI%.
FHEGV &GN
(A) FM6eVHH6V - FEaTShHBH6D
(B)  /BIGESTHEBIGV —~  LOGTLUTTLD
] oo - hSGH
(D) Hemev —  WEIPFH
88. Frhwrer oflen_evws CHibl & (H1%s.
“CFrsHd STTHeueHT HCFTHH” 16T Ml Famleurr
(A &l umrevsE g oessiluih FTHIT
(C)  eurressihm 6T (D) LMy &&mEFes
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89.

90.

91.

92.

FHGBT LSl
L6V LFNGT AL CTHRIGETOT S GTETIICNSGS HEETL_ L)%,

(A) _ GNBGUTBIHLD (B) Logiemyg
(Oﬂ LIGSTLDGHGV ‘D) FHITEHF
OWLIT (155 &i%.

Fpliys GFmL i TBTGVHET
(a) oblp Ceuaed , (1) CGaeurgib
)  SLOPEIGHLpFL 6V ' (2) BHuUTFSLD

() mL_adled YIS eatTSBSLOID  (3) LMUTL_6D
@) uwGlesrT(® HLOG)pTLiiT (4) YmETesTm
(@ (b (c) (d)

A @ & M &
g8 8 |
AN @ @ O d
QuUIT (RS &I S.

FpytiGuwi e @ Mwirt semw
(a) BTL &% SeweveOWTH T (1) YULDLDGY FLDLIFS (LpHSIUITIT
(b) SUIPBTL FSHS6T Bhens Q) QY FEIFTHTV HeUTLOHGT «

) ssHmeuls  Cuum&fwgrs’s (3) 6&.00IT &) (HeyessT FTblILITeueT
Lisstl b Beurt .-
(d) ygl Quires  pT_shusenenr’ (4) wCermedrioesst wid FbHsrid
GT(LPH) SSHSIT o ersITFFeWwL L6 emarr
QB SFwIeuT
(@ (b) () (d)
Ay 3 (2 (1) )
2y M @ 3 ’
<€ @ 3 @ )
@ @1 @ & &

Q&TL_ (b - GHTL_rTiyib.

@ mre_i - FHe TSI
(@) yeog&r peevmid (1) LTTSISTFGET
- Gumrmn)sGsess et
) sUp BT Q6T @QTdd (2 FSFVE FTSISITIT
FLoFCHT6]
() eretT &Lt Liew OFuig  (3) POTENGUIITIT .
S 1'1Cs e

) yeyeveud SHiewarsGsHLp  (4)  BBBTeYSETFIT
HL_GRHGVLS Ly&HL  1q
PO
OO ONC)! 4
< G @ @ O
© @ & @O O
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93. aflewr_ Gara.
‘&’ eTesTaIh et GlomSumed GmMISSHLILIBID BTy mg,/ ?
(A) ymmrenTmi B) sE6FHTmS
(C) BmsH@mer & uum_e

94. efenr_ CxTs.
@b mTey ‘@55 creiranib e _Oomifl Glubmr eu(mLD

(&) ppmleenT N LBDp LSS
(C) GmuBEOETwS D) wuflum_eb
95. Lﬂﬁ?g’ggﬁgymﬂ@ Filwmrer oYevl_enws G&Hrs. |
hewstlauLd
(A)_ BessrL_ + jBleulb (B) B + blevd
m b6l + [hlevib (D) Hevsr + Blevib
96. INGH06Y 6T gy FriwmeTdy eTes W%
SpsL0lp . _
(A) &+ B (B) Bevo + HLblLp
N G + 56D (D) Betr + HLOID
97. FEDplevsGiSFN@t QLUm(hbESTS EBICHS HTETS.
(A) LGaLD W FuCss)
(C) 2er&6D (D) &HHLD

98. mrHGmep Gomiflaeflsy QuompO uwrdatid ( pred

(A)  4mBITSIT MI (B) BreULQWITIT
GUITWEOD GUTLDS i D) #G06IH TS
99. QumBEE CBTL_o7%h GSDILIINBS.
LI 1g wiey I L 1g wiev II
() e&Heded Fmbser (my) (1) Qo esst! (@)etremio
(b) euesTenLOUIGL FIm kL6t my (2)  GUTUIEHLOULJEHL_GHLD
) Guoeosulieh FmkHesTmy (3) RUOSH(LPEOL_GOLD

d) @eremioulley FmbLHer ) (4) FSDDS&I LOPOUTEOHLD
(@) () () (d)
A, @ 3 O @&

G @ @ O
© 1 @& 6 &
@ @ 3 @ M
100. &riflwr &asr &R FITEGV LOITGOSTIT & E T TOUIT
(A)  LO&HIGOT ST a;lz_gwrrr @Qnﬂm FHess!GLoG TN wITIT
(C) meLeLTSHGUTTIT (D) Hl(meueT@meurr
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101.

102.

103.

How many triangles are in the following figure ?

(A) 12 v@(’ 13

)y 14 15

&GLp 2 6remr UL S0 6TSFHenar @EQEITGMT/"‘SJ&G"IT 2 Gireent.

(A) 12 (B) 13
(C) 14 (D) 15

[f8M =32, thenm is

3 2
(A) 3 B) 3

5 5
Wg D) 3
8™ =32, 6Teefle m GiT LoGILuLy

3 2
&) 3 B) 3

5 5
© 3 @ 3

The missing number from the given diagrams is

7 10 6 8 3 5
15 14 12
12 ? 0

(A) 6 ' (B) .8
N 12 (D) " 20
QsrRSHLIuL L Ll _hFefell(mE s e L 6TesT

A

(A) 6 B) 8
€ 12 (D) 20
21

CCSE



104. Which of the following four figures when placed at the vacant part shall complete the
figure ?

RS
-~

s

(A)

W (D)

Gpssremid  aflenl_sofley  erangs  CarpOsBISs  FHrelwiTes
@50 QITBSHTTE LIl LD (Lp(LPEOLD DL _JLD.

K

]

| .
H N

(A) (B)
— ‘
.

©) D)

105. The number opposite to 1 in the given die is
5 ] 3
6 4 3 2 2 6

(A) 3 (B) 4
<) 5 ﬂdhé A

OCsTRSSLULC_ Hatenr UL uled 16@ THRT o 6irer eTehT

5 1 3
6 4 3 2 2 6

(A 3 (B) 4

<€ s (D) 6

CCSE 22 @
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106. Which of the following four figures when placed at the vacant part shall complete the

figure ?
O O
)
D
O
o
A « ®)
O O
O O
© D (D)
o
GGp Q&T(HSSL 1L _(HETET LIL_1D (LP(LOEDLD <QICOL_ILJ

Qa&mhgHsLiu’ (herer  FreTE flenl_&efley Fflwmesr  eflenl_enw
Caiposbiss sredwmer QL _s&ev Oim(hsHa L.

O @)
4))
D
O
W/
(A) q (B)
O O
® O
© D (D)
7\

107. The day designated by the UNO as the UN Public Service Day is
23™ June (B) 24™ October
(C) 25" May @) 27" April

.51, Fenwimev, @m1. Qurg Caemey FSTLOTS LDITHHLILIL L
FGsTLD

(A) @O6tr 23 9yLb BT B) &G 24 b w6
(© G 25 9ytb Brreir (D) GgLiged 27 b BT

-] 23 CCSE



108.

109.

Match the Countries with its National Emblem using the codes given below :

Countries Emblem
(2) Bangladesh I. Com Flower
(b) Denmark 2. Eagle
(¢) Germany 3. Golden Rod
(d) US.A. 4. Water Lily
(e) Syna 5. Beach
Codes :

@ ® © @ © £V
(A) 4 1 2 3 5
B) 5 4 3 1 2
© 1 2 3 4 5
A4+ s 1 3 2

BrhsenL_6T et CaFlw Ferarhisemer Spsesi_ Gulul(Hseflar
eLpeuLDT s ONIT (M i

BT (HSHGT Fl6oT 6T LD
() whsertGxay 1. GFmer v
(b) G)_esTLomiTd; 2. LI &
() Ogorrioesf) 3. &b FHLOLY
(d) oyGIoflgsm 4. B 9606l
(e) Hflwrr 5. &L_DEenT

@ @® © @ (¢

(A) 4 1 2 3 5

B 5 4 3 1 2

<) 1 2 3 4 5

@ 4 5 1 3 2

The world’s fastest supercomputer released in June 2013 by China is

(A) Titan-2 (B) IT™M »
(C) C-DAC & Tianhe -2

@96t 2013 @lev Farmeured Qaualuii il L o eu&leT 95 Ceus
153 & 6wofl o)

(A) e»i_L_Gor-2 B) @.g0.19 6TLD.
©) #-GL & D) yuwenGam-2

C CSE 24 o



110. Find out the correct matching from the following :
List —1 List - II

(i) Indian Space Research Organisation Kota

(ii) Indian Institute of Science Ahmedabad

(ii) National Physics Laboratory Mumbai .o
(iv) Indian Institute of Space Technology  Trivandrum r
(A) (1) only (B) (ii) only

(C) (in) only ('ﬂ (iv) only
GLp&eSTL_aup mieT 6T Frilwmgs Qim(hb SIS Si.

g uiey 1 L g uiey II

(i) @BHw Nawblevell yrmuidd enwuwib (ISRO) Csmiom

(i) Q)B&w yplafucy Spsid QFLOBTUTS
(i) @BSw @uniiued uieusLd (LPLDEMLS

(v) @b&w alleublevef rmiiss) spsHbd SlpeuarpgLTLb
(A)  ()ol_(ib (B) (ii) or"_ (b

(C) (iii) o”_(Hb (D) (iv) Lor"_ (b

111. Assertion (A) : Monoclonal antibodies are the antibodies produced by the cloned cells.

Reason (R) : They are used for treatment of viral diseases.

(A) (A)is wrong, (R)is cox;rect. (B) (A)and (R) are wrong.

W (A) and (R) are correct. (D) (A)is correct, (R) is wrong. ' s

HiewflLy (A) : wnGerr@Germearey  er@riiyls  QuUT(RL_&6iT
GTGT LGOI &Cormetr Gl FGVSET TG

o (KUTSHHLIIL 1L TEITLIL OUITHL_FHET @Lb.

srgewito (R) : @eweu  eweugev  Crruisener  &GeswriL(BSSL
LHIGSTLI(HY&)GET D GYT.

(A) (A sewmy (R) &) (B) (A) wopmitb (R) S6um)

©) (A) wpayd (R) &rf) (D) (A) &M (R) Soumy

I 25 CCSE



112. Janan Suraksha Yojana (JSY) was launched by National Rural Health Mission. Its main
purpose is

(A)

(B)
7

(D)

It entitles all pregnant women delivering in Public Health Institution to absolutely
free and no expense delivery, including caesarean section.

Aimed to train health personnel in basic new born care.
To promote institutional delivery among the poor pregnant women.

To eradicate polio in India covering children in the age group 0-3 years.

Cs&lw Gymwo s&rsmy  eapelerTey, OFBmL_mislii’ L @eses)
sgsapT Qumgerm (SY) S 1 &8s Crrssiomert ).

(A)

B

(©

D)

QTS E  FHRYDD  STUILDTITSGHLD,  QUITSH  FHTSTT
Bl mieuesiisafiey, GFeallsvers, @eveuswormar (FeGyhuet
o) tyFeu 2 gaulemnerr OLIDG HEHHNEHL_UIGUTTGUTT.

Ypps  @pheoguist  pod  CUEWMISDS,  FETSTT
LIGSSTIWITGT TH@BSHS Lg-LIienl_ LuDFuwienssed

LD(1h FICULDEOET F 616D, F(HSYDD TELD HITUILDITIT HGIT
yFeugGlenct GLom©smerer &G Fu'sHey

@B&SwuTedlsd  0-3 wBDGL UL L. Gphenssafley  &HTeb
CumeliGuir Crmullewest wphHmlayh @560

113. Which of the following are the Rocket Launching Centres of ISRO ?

1. Thumba - 2. Sunharikota
3. Mahendragin . 4.  Bangalore
Choose the correct éptions.

& 1 and 2 (B) 1land3

(C) 2and3 (D) 2and 4

B LDS %GBT L_Gu (D M6 RsvGrmelesr aflevrleuerf) O
TQYFOTAIFET GTEOG ? '

1.  &uburr 2. wfanfCsm
3.  wCsBST&HH 4. Qubis@mT
(A) 1T womyb 2 B) 1 womibd 3
©) 2 whmib 3 (D) 2 phmyid 4
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114.

115.

116.

117.

Where was the “Largest Biogas plant of the world” inaugurated in March 2013 ?
(A) US.A. (B) Ireland "
W Finland (D) Germany o

wrrd 20136, oev&letr WAsL@Qufly 2uli eury 2 HugS) Elemeoth
6T Blmreulii 1 &y ?

(A O oflgssm (B)  <UITGUITIH B

(C) NestevrhH (D) ©grrioesf)

The acronym VoIP used in communication stands for

(A) Video over Internet Protocol @ﬂ Voice over Intemet Protocol

(C) Video over Interphase (D) Venue on Intemet Pathway

s&aueh  O&STL ey  LweTL@EW  ‘VoIP’  eTa@ld  F(HhHLIGlLIwT

CLYMIEEY

(A) Video Over Internet Protocol (B) Voice Over Internet Protocol © .«

(C) Video Over Interphase (D) Venue On Intemet Pathway

The quadruplet ‘Raja, Rani, Roarer, Rocket’ refers to

(A) the names of Indian Missiles.

(Bﬂ the streams and falls in Sharavati river.

(C) the terms related to Chess.

(D) the power reactors in Kalpakkam.

‘@omreger, @uresfl, Gomgr, gr&GlsL "’ 6T@yib BIGTHGT &L

@)Benanrd; @&m)e@Lb.

(A) Q@)b&w eTeyjsenassamemsst O\LILITHET

(B) augreud mHuUI oerer FCrmeni_  HMID Y HNSeTI6HT
QLT E6r

©€) FHThssGCHsTH QHTL_THem_w OFTHHET

(D) &OLITSHSHSEH Q) 6TOT et aflenardsevhigemesr OLiumEer

Dr. Visweswaraiah Science Museum is situated at

(A) Hyderabad S W Bangalore

(C) Mysore (D) Pune

L& eflsvGeusroginum oy (hhisTL_Guib 2 6Ter (@)L_Lb
(A) ADSTTLITS (B) OWukbismem(rm

(C) emLo@sT (D) Lyeorrr
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118.

119.

120.

W.H.O. headquarters ts situated at

(A) New York (B) London
Geneva (D) Moscow i~
2 VG GHTHTT QUUSHLD @UIBIGLD SO LD ojeninbs (@)L Lb
(A)  Blugwimrsd (B) GUeTL_G8T
(C) O\ggesfleur D) revGsT

Match List-I with List-1I correctly and select your answer using the codes given below :

List — 1 List —1I
(a) Assam 1. Onam
(b) Gujarat 2. Mopip
(¢) Arunachal Pradesh 3. Bihu
(d) Kerala 4. Makar-Sankranti
(@ () (¢ (d)
(A) 2 1 3 4
3 4 2 1
©) 4 2 3 1
(D) 1 4 3 2

ocguwey I g wlligwey U acrewr  GQurrsd), &G
QE&TRSSLILL_(HeTer GOTHseo6Ts; Csrega(®  «  gFriwmes
fleni_amwd GC&rEG)s 5.

L1 1g uiev —1 w19 wiev — 11
(a) YFTLD 1. georid
®) G@ITSH 2. Guomiiesr
() ymewmdsew L9gCssFd 3. L9
@ Cagerm 4. LO&FT FRISTTHS

(@ ®) () (@
Ay 2 1 3 4

®B) 3 4 2 1

< 4 2 3 1

(D) 1 4 3 2

Silver Revolution denotes

(A) Milk production o W Egg production

(C) Rice production (D) Cotton production
Oevereflls YLl &) eTedTLIcDS cTenss &DISED H1?

(A) LIT6Y 2 HLISE) (B) (oL 6wl 2 pHLig)
© & 2 pLigl D) LBSS 2pLSF)
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oy

121.

122.

123.

Who was called as the father of Indian archaeology ?

(A) John Marshall ( (B) S.R.Rao

(C) R.S.Bisht "'% Alexander Cunningham

@psw G FreveliellesT FHeng TIDENPSSLILIL L QUIT Wi ?

(A) &6 LOMIT@NT (B) eTenv. YT IITE!

(C) yrersivLisivr (D)  yOeVSHEVTEETL_T SHGSTEsHIRIQMTLD

Consider the statements regarding Gupta’s age and choose the correct answer :
1. The Allahabad Pillar inscription provides 2 detailed account of Chandra Gupta II.
2. The Meherauli Iron Pillar inscription mentions conquests of Chandra Gupta I.

3. Samudra Gupta issued gold coin and silver coin with the legend restorer of the

Aswamedha.

Chandra Gupta II called himself Vikramaditya. ’
06’23and4 (B) 1,2and3
(C) 1,3and4 (D) All are correct

GUST STl LHBi FmhDMIFST &Heuesll. &FilwmeaTeunhenm

CarB6s6!

L yousTursd gresr syl (B @)TesTL_mib FESTESLISmTL
DB SFHUFEOTS S(HFGTD ).

2. Ouangmral OGN SITGOST HevGleur” (B (LPHGUTLD
FhHTGLIS et LewL GuBLiysemend; GBS ).

3. FwpSSlr GLisher Oeseref), sms mresrw Oeueuf® jauemy
9vaGLog WTHSEF STSSAUT TETdH HTL 19 W %)

4. @ewL_mib  FREIGLST Seienet NNGTLOTHSEHET 6T M)
9eOLpG &g O\ FTGUTL_ITIT.

(A) 2,3 mmib 4 B) 1,2wHmib3
(C) 1,3 whHmiib4 (D) yenewrd &b Ffl

Who was the author of Tarikh-i-Mubarik-Shahi ?

(A) Hasan-un-Nizami MFakhr—ud—din

(C) Amir Khusro (D) Amir Hassan
&TNG-(9)-pmgd-apur&ulest S flunr wirr?

(A) QUDITFGT 2681 [(BlFmLE) (B) LIS (BSetT

(C) b e (D) BT eunmFesr
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124.

125.

126.

“If T were guilty of an unjust act, I would rise in judgement against myself.” Whose
statement 1s this ?
(A) Babar w{) Akbar
(C) Jahangir (D)  Aurangazeb
‘et B&HG :_/!Dth_/rr@'r @&GDD  [bL_GULY HEOFHFHEET
GamerGeussrmuilest  erewrd@ er@lgmar  Srlieon  FTGeT  euLphi&S
OamerGeustr” (@) &1 WT(BEDL_ Fnfd M) ?
(A) Ly (B) y&LIT
(C) @ammmiGr (D) eThIEFL)
Match the following :
a. Babar - 1. Buland-Dar-waza
b.  Humayun - 2. Kabul Bagh
c.  Akbar - 3. Diwan-i-Khas
d Shahjehan - 4. Din-panch
a b ¢ d
N2 4 1 3
@ 2 1 3 4
< 4 3 2 1
@ 3 2 4 1
QuUTBS&HIS
a.  LNTLIT - 1. LeVGET SHITGUTHFT
b.  emOwrwes - 2. HTLLEV LTS
C. YSLIT - 3. Heurest] &meiv
d.  ayTgammeT - 4. FleTLerT
a b c d
(A) 2 4 1 3
B) 2 1 3 4
© 4 3 2 1
o 3 2 4 1
Arrange in chronological order :

1. The First Battle of Tarain

2. Arab Conquest of Sind

3 Somnath expedition of Mahmud of Ghazni
Establishment of Slave dynasty rule in Delhi

(».M\23,1,4 (B) 1,2,3,4
) 3,2,1,4 - (D) 4,1,3,2
HT6V wrﬂm&uu@gg;& .

1. wpserid seoguiess Gumt

2.  &Spgedesr LBa Criiu e Gy

3. &sggent) wmepgiellstt CFmwprsLyy Levt _Qui(bhiiL
4. Orsvedluied g9 e eubF Y & Bl mieulii(hsed
(A) 2,3,1,4 B) 1,2,3,4

(C) 3,2,1,4 D) 4,1,3,2
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127. Whjch of the following statement is correct ?

Coronation of Shivaji, 1674. (B) Treaty of Purandar, 1664.
(C) Shivaji was born on 1637. (D) Shivaji breathe his last, 1666.
GLDSFETL_ FalD MiSFerTley FriwTeT s 6T ?
F(H HIHHET:

(A) Hourgd) L’ 1_ib @Higw Y&k, 1674
B) YIBST 2L _GHLILG Henrdh, 1664
© &Hourgh 9bs s, 1637
(D) Hoeurgh @mbs Yevr(), 1666

128. In 1948, the first Linguistic Provinces Commission was headed by

(A) Sitaramiah (B) Fazal Ali
&? S.K. Dar (D) M.P.Sivagnanam
1948-60  (pgevreugl Owomifleurifl  THTERT 9jeneTild g,@meuﬁyﬂ
(A) @smgmeniowT B) wFeL e
(C) ererv.G&H ST D) LT FeuehTesTLD
129. Match the following :
List-1 List-IX
a. Choleswara temple 1. Kulottunga-I
b. Koranganatha temple II. Aditya-I
¢. Balasubramanyan temple III. Parantaka-I
d. Kampahareswara temple IV. Vijayalaya

a b c d
(A 1 o oI v
@ 1 1v 1 11

179, < \VAREE | G VR |

(D) I I v I

QUIT(RS SIS :

a. G&FrySeiveurrr I. &Geurd gyhigHetr-1
Camudled

b. C&myhismT et . 9y&Guiatr-I
Gamuflev

¢ uresrwesfluy ML LTyrBSsesT 1
Carufled

d. Sbumamfeveur IV. 69 @utTeUILIGHT -
G rulleh

a b C d
A I I m Iv
(B) I IV I 11
O v I 1 I
D) 1I I IV I .
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130. Match the following lists and select correct option :

131.

List—1 List— 11
a.  Respiration - 1. Chloroplast
b.  Protein synthesis - 2. Mitochondrion
¢.  Photosynthesis - 3.  Dictyosome
d.  Secretion - 4. ijosom.e
a b c d
(A) 1 3 2 4
B 4 2 3 1
© 3 1 4 2 K
w22 4 1 3

auflensd 1 pmb euflens 11 y&luweneusener OLm(hsS), &hlwimer
@aMalemesr Caray QFuis :

cuflensF 1 aflenF 11

|l
—

a.  FUTHSH6 &CormCrmenmsiue

b. ygssd Cardens - 2. eowl GLmsmesrt’ fusrasr
c. efldGsidenas - 3. 19819 CurGemb
d.  &F7dsHev - 4. egGunGsmib
a b c
Aa 1 3 2 4
B) 4 2 3 1
<€ 3 1 4 2
D) 2 4 1 3
To get a high yield, which gene from Bacteria can be introduced to non-leguminous
crops ?
(A) T, gene (B) B, gene
*A nif gene (D) antisense gene

L&E@FH &S MEH, ursie Mwmeledmbg eTHGHLILIL (R, L)
QOVTEH HTeughiHetley O\Fa s ii(Bib g6t 6T 5 ?

(A) T, gebr (B) B, gdair
(C) [Blopts gletr (D) o asriHeni  gHeir
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132.

133.

Pick out the odd one out :

1. Tuberculosis

2. Leprosy
3 Cholera
4. Polio N,
&) 4 (B) 2
© 1 D) 3

&G  QErRSHLIL_(HeTer  GTMIGH
Carbols® :

1. &rF Grmd

2. Qsrep Grmi

3. &Tevgm

4. GumedGurmr
(A) 4 B) 2
< 1 (D) 3

Which of the following statement is correct ?
ATP molecule consist of

(A) Adenine, Ribose sugar and two phosphate groups

QT BBESTS

(B) Adenine, Deoxyribose sugar and three phosphate groups

(C) Thiamine, Ribose sugar and three phosphate groups
M Adenine, Ribose sugar and three phosphate groups

GRETEOD

WeTaumeuasToup mier 61 FAwmeT eurESFwb? ATP  eLpeuddnplev

LG ETETEm6

(A) g evarer, MGuTsiv &Fridgaeng wpmid e cmevG

OHTEHLiLy

B) gevearetr, 19 YHOINCLITSV  FITSHEDT  LOHMILD PG M)

oG’ Q& m@Hiiiny

(©) ewgwiblesr, MCumsiv Fridseny whHmib epestm  UmevGLIL

O

(D) g evarest, MGLmsv Frdseng wHmib epestm  LimevGi

QIF T &Ly
33
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134. The origin and conduction of heartbeat takes place through

1. Atrio ventricular node
2. Sinu auricular node
3. Purkinje fibres
4. Bundle of His
The correct sequence of conduction is
(A) 1,3,4,2 W2,1,4,3
(C) 3,2,1,4 (D) 4,3,1,2 )
Qew Qusss  grawi e  Gamermey  Lopmud  LTeysedleh
QIFWOLI(HLD EOLOLILSBET -
1. gl AGwr Gever_Meurrr Hewy

2. F@ YTSGVTIT FHem)
3. yri&leradl (9)emipsair
4. aBfleTV&IGT FHHenm
Qs @uiSGHLD HL_SSLILIHD FAMWTCT LILg leHEUSHGIT-
(A) 1,3,4,2 (B) 2,1,4,3
(C) 3,2,1,4 (D) 4,3,1,2

135. Consider the following statements :
Assertion (A) : Menstruation happens at the end of luteal phase.

Reason (R) : The decrease in the progesterone and oestrogen hormone levels brings
about menstruation.

Now select your answer according to the coding scheme given below :
(A) Both (A) and (R) are false and (R) is not the correct explanation of (A).
(B) (A)is true but (R) is false.
(C)_ (A) is false but (R) 1s true.

Both (A) and (R) are true and (R) is the correct explanation of (A).
BLpFETL_ UTHFNLBIFEOETS SHeyest :

Fopmy (A Oy gueh  Flevevullesr @) muSudled  Lom el il
THUGEIN )

Fmm R)  : yGomrllggsivig rmrest Lo miLh rervl”_Grmasett
am TG Lomett Herfletr FTLIL & EDMGU HGIT TGV

or e _mis JHLBE D i
&G @B (Rerer @pufL g ev Filwmer aflew_eouws Corpbls(®
(A) (A) pmib R) @eisrhd seumi, Gogub (R) eTetTLig (A) D&
Frilwmerr Y6 &FH L0606
(B) (A) &rfl yerred (R) SH6eumy
©) (A seum garTed (R) &f)
D) (A) wppid R) @aw@id s, Cogid R) TaTLIS (A) DG

FriwTesr eNeTHSLD.
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136. Arrange the following according to Energy Flow in an Eco-system :
I.  Producer
Top carnivores

2
3. Herbivores
4

. Carnivores
Wi 3,42 (B) 3.4,2,1
(C) 4,3.1,2 (D) 2,1,3,4 ‘“.J,.

@Lpbleney  LoeTL_evgBleh HmeL RUOSHIGTLIG Sip FEETL_uhHOD
surflens Li(hS &)

1. 2pusSwmenr

2. owiflw eflevi, o etsressflselr

3. HTGUT 2 GBTeulI&HGT

4. aflevikiE 2 aBsTensilBeT

(A) 1,3,4,2 (B) 3,4,2,1

© 43,1,2 @) 2,1,3,4

137. What are the diseases caused by eating improperly cooked measly pork ?
L. Leishmaniasis
II.  Cysticercosis

III.  Ascariasis

IV. Taeniasis R 4
(A) TandII v 1and1v
(©) Tand I D) 1M and IV

Ffluns Fewdslia_mg hsval L6ty @epdFenws o @TLISTE
gy Crmiser wreey ?

I SenCrossiir&er

. Sesrvg #rCsr&lsiv

. gyervamilen

IV. weesflur&ls

(A) IpmblIl B) I wHmib IV

(C) Iiopmib I (D) LIwmmib IV
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138. Match List I & 1l correctly and select your answer using the codes given below :

BN

List - I
Stomach juices
Tea
Lemon juice
Grapes

y

awflens 1 & 1l & QuTrsS GpsHeT_oupmier Fwmear eflen_eow

List—1
a. Citric acid -
b. Tartaric acid -
¢.  Hydrochloric acid
d. Tannic acid -
a b c d
(A 3 1 2 4
B) 2 3 4 1
< 1 2 3 4
N3 4 1 2
Carplls®
auiflema 1

S _fé yblevih

a

b Lar TS yidlsvid
c.  eanl Cyr &Germd oyblevidb -
d

L_rrasflé gyl

suflema 11
- L @glienu b
- 2. Gahir
3. aTeublFF ULPFFTH)
- 4 o enF

139. Match List I & II and select correct answer using the codes given below :

a b c d
(A 3 1 2 4
@) 2 3 4 1
< 1 2 3 4
D) 3 4 1 2
List — I
a.  Bleaching powder -
b.  Plaster of paris -
c. DDT -
d.  Potash alum -
a b C d
(A 1 2 4 3
w2 4 1 3
() 3 1 2 4
D) 4 3 2 1
utguwsy I &
CarbGs®
L 1q uiey |
a.  FeUMaUS HTET
b.  wmilsiv Fmb gy
c. DDT
d.

a b c d
(A) 1 2 4 3
B) 2 4 1 3
C) 3 1 2 4
(D) 4 3 2 1

CCSE

1
2.
3.
4

List - II

Insectiside

Disinfectant

Purification of drinking water
Plastering the fractured bone

L 4

uligued 11 a6 Qurrsd GG
&TRGHELLL Rerer FplufBsener ©&Tesr(h Fhwmer ofent_eois

@umt’ L Tely Litg & TTLb

L’ 1g wiey II

- 1. y&fH6IETeLd

- 2. GupLblprFe]

- 3. Gupeny grienol(bis siged

- 4 wpPins GTQIbENLI LI 696U 560
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140.

141.

Read the following statements with reference to fertilizers :

L Nitrogen is highly essential for rapid growth of plants.

II.  Phosphate promotes early growth as well as early maturity of plants.
III.  Potassium develops a healthy root system.

Which of the statement(s) 1s / are correct ?

(A) IandIl @7 1 and I

(©) IandIllI (D) Ionly

o JRIFET OIBTLITLEHL Ul SLPHEGUTL . QUTSHEUIEIFEDET LIl S&H6yLD.

I enpL7goe, FHOUTThISFET 6T GeuasLomest QT TSI G
OJUFNILDTGOT ST LD o

1. sreugksefles &ifle euermd@s@d WpHTdFse LmavCur’
Cgeney

M.  euadewLowlTest Geurr <2 GOLOLIGHLI QUL _mFuio
2 (IHUTSHSGHFID &

CLon &6t 6Thg  QUTSE D/ UTESEWIBIGSST Fi?

(A) Tommib I (B) LIl opmyb 10

(C) 1wmmiib I (D) Iwot” (pib

Match List I & II and select correct answer:
List—1I List - I1

a. Etching on glass - 1. Zinc carbonate

b.  Calico printing - 2. Bordeaux mixture

c.  Skin ointment - 3. Hydrofluoric acid

d.  Fungicide - 4. Potassium dichromate
a b c d
3 4 1 2

@ 1 3 4 2

) 2 1 3 4

D) 4 2 1 3

orguied gy i igquieh 11 oo 6t Qumkss) sFhwmet efenr_emuws
Carbs®
LIl 1g wiy I L 1g wiey 11

-

a.  &ewewny yMésey - 1. oBikud &mirisGere

b.  &7a0CET FFBS - 2. QUL TéeV FHevemeu

c. Gamed serflby - 3. eami_Gumr Liemhlé oyblevib

d.  &mermesr G\&meLEd) - 4 Qurd L m@uib e _F&CrrGuoL
a b ¢ d

A) 3 4 1 2

B) 1 3 4 2

© 2 1 3 4

M 4 2 1 3
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142. Match List I & II cortectly and select your answer using the codes given below :

List — I List - 11
a.  Newton - 1. Elliptical orbit of planets around the Sun
b.  Johannes Kepler - 2.  Mass of the Earth
c. Cavendish - 3. Helio Centric Theory
d.  Copernicus - 4.  Lay of Gravitation
Codes :

a b c d
(A) 1 2 3 4
N+ 1 2 3
< 4 3 2 1
D)y 3 2 1 4

quey I ogo wliquwed T o et Qumupsd), &0 G&T(hssE
ul Rerer  goluiHsewers  O&Tess(h  swmer  eflenl_eoul
CarhGIHHESHa LD - '

(A)
(B)
(©)
D)

143. L.
IL.
(A)
(B)
(D)

(A)
(B)
©
D)

CCSE

Ll ag uiey 1 g wey I

blugt’ 1 ebr - 1. Gamersefesr heir QL 1Yy
LITEn UG (QISHLD

Camamersiv G&LIGTT - yefludlest Flemm

FHITOUGHTLY O% - 3. @Aweoowds CeHmL Lim()

Qarurrflssi - 4 yeduFrrdiy a9

c

N

Wk b~—
N W~ N T
— N W

o= W

Centrifugal force is the force acting towards the centre.

Butter is separated from curd due to centrifugal force.

Statement I is correct but Statement II is wrong.

Neither I nor II is correct.

Statement I is wrong but Statement II is correct.

Neither I nor II.is wrong.

wLweevdE dlensF ereiiig ewwsensd Crrss GlFuwevLi@iLb
NlewFwim@Ld

Uit sewL_wliu®  Curg  OeuswOlemryt  LIMNSGOSHSGSL
Loyl eOLowedleVsd @ NGOFUITE HT6HT

Spml 1 &M garmey swpay 1 g

Fmm TG @rawGL_m Filwsbey

Fah i | UMl OHYILD Fafh ) 1 &l

b PTCPT @reasGLm Seumsvev
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144.

145.

Fuse wire has property of

a.  High resistance and low melting point
b.  Low resistance and low melting point

c.  High resistance and high melting point

d.  Low resistance and high melting point

@ﬂ a is correct (B) b iscorrect
(C) ciscorrect (D) discorrect
2 (BG& @evip

a. 985 blerFew b GODES o (5 Blevevujd Glamesr_g)
b. Gonis WeTHm_ujd GHeophs 2 (5& Hlevevujb O\FHTETL_ &
c. 8s Bersen_wib &F o (Hm&blevevnyd O\FHTERTL 5

d  Goowps WBlerseni_ujb &% 2 (K blenevuyd Ol&mesrL_ %)

(A) a &M (B) b &)
(C) ¢ & (D) d &M

) ) ) 11th
The temperature in Celsius scale at which the temperature in Fahrenheit equals 5 its

value (in Celsius scale) is

(A) 0°C (B) 40°C

'@ﬂ 80 °C ' (D) -40°C ’
GFevGluwsn Garliufleney yereyCsrefled oyeoowiGLImib GeuliLs

Flemevullatr 15—1 west Qups& LWHNNDGF FwLlomer SoLmTFeTaNL
Geutipleney wIieoLS HpLd, GeuliBleney (GFeL&FwemisD)

(A) 0°C (B) 40°C
(C) 80°C (D) -40°C
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146. Match the following :

a.  Concorde aircraft - 1. London to Paris
b.  Seabed Trave] way - 2. Chennai to Mysore
c. TGV - 3. London to Newyork
d Satabhthi - 4. Paris to Lyons
a b c d
(A) 4 3 1 2
B 3 2 4 1 ¢
dgNV2 4+ 1 3 ‘
) 1 2 3 4

L9esreumeuaTeupenn ©O)LIT(HD & :

a.  soeTHTAL. wrerd - 1. (QeveRrL 6t (LpHev LiThlsiv

b. &l_evgd GoLaf eufl - 2. GIFGTENGT (LPH6) EOLDEHT

c. 1g.golad. - 3. @levedii et (LpFev Blujwimird

d.  FHTUS - 4. Lmflev (LB EHEVWITEHTEIL
a b ¢ d

(A 4 3 1 2

B) 3 2 4 1

© 2 4 1 3

1 2 3 4

147. Tick the correct answer :
The word ‘Klima’ which means climate is derived from the language

L. Persian

II.  English

I[1I.  Greek

IV. Latin ‘

(A) 1Ilis only correct (B) IV and II are correct

m 1M is only correct (D) IVisonly correct f .

Frilwimes afleni_emw GBS -
FHTEVHlEDEVEHIL GW)H LD ‘GOIoT TG G)Fmey 6Th%
Oomipludedmb g GuDLILIL L &)?

I Qur&uwesr . gym&leid

L. &Cy&sHid IV. egBetr

(A) Ml (Wb &l B) IV wHmyb Tl &l
(C) 1ol (Rib &if) (D) 1V oL (b &
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148,

149.

The length of the growing season in “Taiga” forests

(A) 150 days (B) 120 days

(C) 110 days ' o 130 days
“GOL_ST” STQUTHRIFZTGH GUGTITES) FHTGULD

(A) 150 pTL_&eiT (B) 120 B &6
(C) 110 BT &6 (D) 130 BT _&&T

Match List-I with List-II correctly & select your answer using the codes given below :

List-1 List-I1
a.  Chinook - 1. Northem Italy
b.  Fohn - 2. Thar Desert in India
c.  Sirocco - 3. USA
d. Loo - 4. Sahara Desert
Code :

a b c d
A) 1t 3 2 4
B) 2 1 4 3
I3 1 4 2
D)y 4 3 2 1

LI g wiGh I & Ul guwed I o161 Qurrss &G
Garhssiiul (Rerer GPufBsemers Gasreas(®h FHwrer aflenl o
1 OFIOR

U 1gurev 1 g uiev 10

a. Herard - L eL_&@ @557

b.  evLITeH - 2. @BSWTNGT SHTIT LITEHeVEIGTLD
c. QDymsGam - 3. yOwfés @&&w BrT(H
d eur - 4 FSTOT LITEOGUGGTLD
a b ¢ d
A 1 3 2 4
B 2 1 4 3
© 3 1 4 2
D)y 4 3 2 1
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150. Match List — I with List — [T correctly and select your answer :

List -1 List — I
Planet Duration of Revolution
a.  Mercury 1. 687 ‘days
b.  Venus 2, 87.97 days
c.  Earth 3. 224.7 days
d. Mars 4 365 Ya days
a b c d
(A) 1 2 3 4
.4 3 2 1
M2 3 4+ 1
® 4 3 1 2
Lit1g uiev I L 19wy IX
Careir HTwenasTd FLPGTHUT M FHDBIGUIBLD HTEVLD
a.  L|HaT - L 687 [BITL_&H6IT
b. Oeveref) -2 87.97 (BT L_&H6iT
c. L -3 224.7 BT _F6T
d.  Q&Feieuml - 4 365 Vs BITL_S6iT
a b c d
Ay 1 2 3 4
@) 4 3 2 1
© 2 3 4 1
(D) 4 3 1 2

151. Choose the correct answer — This is

m—m-" —-r&.' =
&) The eye of the cyclone (B) Symbol of the cyclone
(C) Windward side + (D). Incoming air

Frilwrer efleo_eow CaHirpbS®H - ()5

g .

A Lweder sai ® yuwedsr @Hui®
©) smHay Cuorgib ussdb (D) earCer euupd STHmy
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152.

153.

154.

Choose the correct statement :

(A) Andaman sea lies between Andaman island and Taiwan

@) Andaman sea lies between Andaman island and Thailand

(C) Andaman sea lies between Andaman island and Cambodia

(D) Andaman sea lies between Andaman island and Malaysia

Filwmer eund&wsensd CsiEbls® ™y

(A) YBBLOTET Saydb@Hd STUIMTRGSGLD (GenL _uileh o 6TaT HL_6V
QYBSLOTGE HL_GV

(B) YBSLOTEHT Faysb@&Hib STiievTaT(hEEGLd (Q)ent _ullsh 2 6Temr &L _6v
QYBSHLDTGHT FHL_6V

©) ybsworest Soys@Hb FTCUTIQUTesEGLd Qoo ullsh o erer
FL_GV YBBLOTGT HL_GV

(D) bHwTeT Hays@Hd wGeFwTain@Ed @)ewL_uileh 2 6Tem &Hi_6v
QBBLOTET FHL_ 6V

Choose the correct answer :
Five Stages of Economic Growth is the view of
(A) Malthus (B) Alfred Marshall

8? Rostow (D) Lionel Robbins
Fihlwrer alenL_eows CHikG H(H):

QummerrsTy  euenrEd Flevawd@ wperGaTn @bg GUHFHILITET
SL_L_HISEHAT 7SS 6ITemaurr

(A) DTS (B) <6000t LOTTaH6D
©) CrrenGr_may (D) @evwesred Frillersiv

Which social reformer developed a “feeling of oneness” by popularising Hindi ?
(A) Rajaram Mohan Roy d’ Swamy Dayanand Saraswathi
(C) Shri Ram Krishna (D) Madame Blavatsky

aflbs  GlorLf) @th_b “enereu(hld R(HeUGT” TG 2 GwTTEne
THUBSHI Feps ET G HSSUTE WTT ?

(A) @orggrgmd Gorseymis (B) &eumil SWUTGThS Freveud)
(C) wfomw &(melyessrm D) Guoi_tb fereurt e
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155. Which of the following periodicals is not correctly matched with its editor ?
(A) Bande Mataram : Aurobindo Ghosh
(B) New India : Bipin Chandra Pal
(C) Yugantar : Bhupendranath Dutta
@ Sandhya : Barindra Ghosh
SThs @Q)&Lpser gysett YFNCTT@R) &ilwms Guimmbsealsvency ?
A) utCs wirsgib: TlECasr CHmay
(B) Hluy, @)bSwm: 996 FH&TLmed
© wopst yCUBSTHETS SS5T
D) FBHwT: LfbSrT CHmey

156. Who said “] am an Indian Tom Tom” ?
(A) Madame Gama (B) Sister Nivedita
&) Annic Besant (D) Kadambini Ganguli
“BITGST UH QIBEW L_LOTFTLD” GTST M Inplieur ?
(A) Guot_tb &riom (B) #Csr1aM HGeuBHT

(C) ystrest) GlugFesri . (D) &T&HLbLYevh) &;rfil@é{)?

157. All India Congress sessions held at Karachi in 1931 under the leadership of
(A) Jawaharlal Nehru (B), Mahatma Gandhi
-
(C) Rajaji f) Vallabhbhai Patel

1931-tb gyevor(h) HyTEFUIey pen_OLpm &Flev @Q)BFU FHTEGTEV
WTHTL (&S HEOVEHLD HTHRIGIaUT

(A) gauamrrevmey Gmm (B) Lb&TSLOT HThG)
©) Q@urgorel D) evevevmis iGL v

CCSE 44 2]



158.

159.

Which one of the following was the recommendation of the Cripps proposal ?
Qﬂ Proposed for a Constituent Assembly

(B) I[ntroduction of Dyarchy at the Centre

(C) Accepted the demand for Pakistan

(D) Indians were given control over defence

SLpS&TL_euD mieiT SIflLisy ST &5 @& LpedesT LiMlb ST 67T % ?
(A) yTFwev BliresTw Feors yewinds G L 1D

(B) wgHulled Q)T ewr_ 9" & oyflpsLiiBiBsed

(C) wr&lsvgresr sestl B Carismaeow 5fldhsHe0

(D) Q@QBHWITEHERsGSH @)ITaneusens L (HILiL@ss 2 fleoo

Who said, “Give me your blood, I will give you Independence” ?
(A) Bal Gangadhar Tilak

(B) Lala Lajpat Rai

(C) Bipin Chandra Pal

QE/’Subhash Chandra Bose

“o 1kl &G Qrsssens O\ &TRhHIHET, [5ITGST FHHENT &S
O &THGHCmesT” 6T6tT My C\FT6tTe8TOUT WIT/T ?

(A) LTV FRIFTHT FlevST
(B) eurmeuT eughiag T
(©) Sesr Fh&lruimsd

(D) sumev FH&T Cumsiv
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160. Match the List — I with List - IT :
List—1 List — 11
(1) Maulana Abul Kalam Azad (a) Kesan

(2) Ambedkar (b) Tattvabodhini Patrika
(3) Devendranath Tagore (¢) AlHilal
(4) Bal Gangadhar Tilak (d) Mooknayak

M @ 3 @
WMo @ o e
@) (b) © @ (@
© @ ® (© (@
@ @ @ @ O
U g uied 1@y il guwied Ha L 61 Omins His.
| LI 1g wich — 1 L 1wy — 11

(1) Glverevrer 9jjed Ferb YyFrd (a) GCae

2) yCugsmr b)) sHuGLITHesh

LS E NS ens
3) CsGoubEImErd HTdarr () v aneumey
(4) LIT6V FAISTSHT FHevST , (d) eLphBTiIS

H @ 6 &
A © @ ® (@
B B © @ ()
© @ ® © @
@) @ @ (© (®

161. When was the Tashkent Peace Conference held ?

élﬂ January 1966 (B) February 1966

(C) March 1966 (D) April 1966

STaysesr. . oyenind orpT®h eriGLT g BenL_Olupbm s ?
(A)  @evreurf! 1966 (B) 9 176urf) 1966

(C) Lo 1966 (D) GILiTed 1966
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162. Kamaraj was famous for his policy called
(A) ‘S’ Plan (B) ‘L’ Plan
(C) ‘K’ Plan (D) ‘7’ Plan
&Togragmest Syuevinmer G&TeTens
(A) ‘eTerv’ L1 1D (B) ‘eTeV’ HIL_L b

& Cs S ib D) Qe G 1 ib

163. Consider the following statements :

Assertion (A) : The Constitution of India contains seven Fundamental Rights at the
beginning. Now, the Constitution of India classified the Fundamental
Rights under six groups.

Reason (R) : Right to Property has been abolished by the 44"™ Amendment Act,
1978.

(Now select your answer according to the codes given below)

& Both (A) and (R) are true, (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).

(C) (A)is true, but (R) 1s false.

(D) (A) is false, but (R) is true.

GLDSHSHEOSTL_ QUITHFNIBIFEOCT S FHeUGH]SHALD )

Fopml QS T Fweven LI Q&ML _F55H)60 TP
g LivenL . o MewoEenerd O\FTeuTLy (KhH & SHSLITH
M Y1g LI Ienl_ 2 FleDLDSET HTGH 2 GTETET .

FTIGTLD : 1978-6V 4461 5 QI TFIWIGVEDLDLIL|F FLIL_ &

B(hSHSEHTLILG,  OFTHSBIMNOLOCOUIGT S LG LILIGDL_
o Menoulledmp g Baid GeFwwlind (B ol g

Fiwrar aflen_eows CHrrGHHEs.

(A) FaDi LODMILD FTTETLD Fifl. FafdDISHTET HTTERTLD Fif).
(B) FmbHm LOHMILD SHTTESTLD érﬁ. FnfD) MISEHTGT HTTEETLD HGU M.
(C) ampmy Fif). STFESTLD H6um) .

(D) b Seumi. HTFETLD Fil.
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164. Match the following :

168.

List - List —II
(a) President (1) Real head in the State Executive
(b) Prime Minister (2) The First Citizen of India
(¢) Chief Minister  (3) Nominal Head in the State Executive
(d) Govemor (4) Head of the Government of India
W, O O O @
&2 @ 1) 3
© O 1 @) @ B
O @ @ & @
QILIT(HS &I :

(a) GLWTFHES SeosveuT (1) OTHEVSEHIGHT 2 GETELOWITEST HEMEVEUT
) Ggsw yewwdFr  (2) @QUBSWTNGHT LpHe) &HLYLoFHEHT
(€)  (LPSCUEDLDF FIT (3) rhlevsGletr LluITenad HeneveuT

(d)  <y@HET (4) @B YTFTEFSHIGT HevevaurT
(@ (b (¢ 1(d)

A M 2 6 @

B) 2 4 (1) 3

<€ @ 1 G

O @ @ & @O

Match List — I with List — IT and select your answer using the codes given below :

List ~1 List — 11
(a) Fundamental Duties (1) PartlV
(b) Directive Principles of State Policy (2) PartIV-A
(¢) Village Panchayats (3) PartIX-A
(d) Urban Local Governments (4) PartIX

WD B 5 @
@) () @) )
€y 3) (4 (@ (1)
O @ OH @ 3
LI 19 UGk I & wliwed I oraer Ouirss &G
Q&TREFH L’ _(Heer @pufhFemer O&messr(h Fhwmer afleni_coi

CaxrbGs® :

Ll 1g uieh — ¥ i 1g uiev-II
(@) Y LIIGDIL_ FL_GOLDSGT () uss v
®) g& Cphepepli®ssid (2) LGS V-
Car_um(hser
(©) &gmw uERFTWS B (3) LGS IX-9y
(d) BHTUD 2 &TenTL &) 4) UGS IX

(@) (b) (c) (d)
A) (1) @) G) (4
B) 2 1) @4 ()
<€ 3 4 @ I
G @ O @ @
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166.

167.

Match the following :
List—1 List — 11

(a) The National Population Policy (1) 1991

(b) New Agricultural Policy (2) 1950
(¢) The New Industrial Policy (3) Feb 2000
(d) The Planning Commission (4)  July 2000

(@ ® © (@@
A @O @ 2 6)
® & O @ @
© & 6 GO @

oy o o @

QUIT (B &1 :

L 1g uiev — I g wieb— 1T

(2) GsPw wsser CFTensd O&TerTens (1) 1991

by y&Hw eleusFmwd G\&meTens (2) 1950
© y&w GgTiflev G\&TeTens (3)  igeurf) 2000
@ & yedewTwib (4)  @9emev 2000

(@) (b) (o) (d)
@A O @ @ 6
B ¢ @O @ &
© & & GO @
® & @& GO @

Which Article is called the soul and heart of the Indian Constitution ?

(A) Atticle 46 (B) Article 42
(P Article 32 (D) Article 35
eflgestler Q) pswaptd o ufiTFdGluyd 6rest S@HESLLGLD NS wir ?
(A) ai&) 46 B) & 42
(©) i) 32 D) a9%) 35
49 CCSE



168. Match the following :
List— I List — IX
(a) Emergency due to War (1) Article 360

(b) Emergency due to failure of (2) Article 352
Constitutional Machinery 1in

States
(c¢) Financial emergency (3) Article 356
@ ® (©

G @ @
Ao o 0
© @ O 6
@ & O @
QuUIT(BSHIS
U 1g ey — I L’ 1g ureh— I -
(@) Cs&w QpursEsy Blenew (1)  yBHLD 360
(b) wrhle CBEHSFHLY Hlemew (2) hIELD 352
() B CpusEsHy Bleney (3) E&LD 356
(@ (b) (o)
@a 3 @ O
B) @ G (@)
<€ @ @) 3
® & GO @

169. Consider the following statements :

L Secretariat is the nerve centre of the State Administration.

II.  District is the basic unit of administration in India.

[I. The District Collector is the head of the District Administration.

IV. Govemor is the administrative head of the State Administration.

Which statement is not correct ?

(A) III is not correct.

@) IV is not correct.

(C) Iand 1 are not correct.

(D) Il and IV are not correct.

GLDSHFETL_ UTHFNIBIFEDGT S FeuetldhFHayLD :

I wrklew BlireurssBest myibL) Lo68TL_euLomd O)FIWIGVHLD D GITET &)

I @b&u FHireurssgear g liieoL . @&TH  WTeu L Ib
D GTET & .

M. et EreurssGle geveveums DTaIL L YL Fwmert
D GITATITIT . /

IV. wrplev Blreun&sSlest Hlraursd HeUaUTTSH YGHHET D GTATTIT.
QIuDLIST TSI BV ?
(A) Il (B Seumy . (B) TVl Hid Heum) .
(C) TwnHmib 1l Heumy . (D) I opmied IV Seumy .
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170. Which is the correct statement ?

171.

L. Indian Constitution is a written one.

II. Indian Constitution consists of features of both flexible and rigid Constitutions.
[I. Indian Constitution established a Secular State.

IV. Indian Constitution is against the Federal System of Government.

(A) Tonlycorrect (B) IIonly correct

(C) 1,1l and IV only correct ('W I, IT and III only correct

Frilwmrer alen_eowd CxikIH0 :

L @b&Sw rFuevenioliy, erpSlil’ L HTFuIcvenoliL .

I @b&w yrFueveniotiy Gp&lpd, GB&SIpT @UICHLIEHL U1 )«
. @S HTFGUEHLOLIL] LOSFTITLDD TOF 2 eOL Ul .

V. @&  ygFweenioliyy Sl L TLLE  @pedp  HTFESG
TEHNTTET ) .

(A) lwl (b & (B) Iwl (Wb &M

(C©) LUlwnHmyb IV il b &fl (D) LI wopmyd 111 tor” (pHitb Frf)

Match the following :
(a) Actl53 - 1. National Emergency
(b) Actl63 - 2. Govemor
(¢) Act352 - 3. State Emergency
(d) Act356 - 4. Chief Minister

(@ () (¢} (d)
(A) 3 2 4 1
) 1 3 4 2
© 4 3 2 1
N2 4 1 3
QuUIT(RS HIS
(@ &9&) 153 -
(b) &G 163 - <94@BBIT
(c) @&9% 352 — wrhlev eusy kleney
(d) &@9&1356 — 4. (LPHUGHLOFFIT

(@ () () (d)
(A) 3 2 4 1

Ca&lu ojeusyBleney

wohpo=

@ 1 3 4 2
© 4 3 2 1
D 2 4 1 3
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172.

173.

Match List-I with List-1I :
List-I List-I1
(a) IMF 1
(b)y WTO 2
(c) IFC 3. Resolving trade disputes
(d) IDA 4. Short term credit institution
(@) (b) () (d) |
1 4

. Lower Servicing Charge on loans
. Separate legal entity

~
oo
~—
J—
AW N W

@) 3
i’ g uieh 1@y i iguieh ey 681 QUimssd His :
L g wev I L g wiev 11

(@) wetrarT (B 3% 1. Gopbs euliguisd  FIG
15l M GuawTLD 2 56

—

(b) 2 UTSHSSH 2. FL L LTy &) 1%
QeOLOLIL] QYSBTTLD

() wewarTl ()  H1&S% UITHES SETIT D] FHEHGHT
HLPHLD COHUITGIT HED

(&6

d) wesTerT_ (5 4. &DIGUIFTEV FL_GHT
USTTFGF S FHLPHLD GULPABIGHLD ) mIeuaTLD
(@ () (0 (@
1 4

4 3
2 1
1 2

Find the odd term out :

(A) Life Insurance Corporation of India (LIC)

@M Industrial Finance Corporation of India (IFCI)

(C) Unit Trust of India (UTT)

(D) General Insurance Corporation of India (GIC )

96t eupeuesTeum M6t QUIT(BHETHeDH FL 19 SHTL (H.
(A) @S uier STUFL (B &Lpsib (LIC)

B) @bSw GBrhled Fl&E &psb (IFCI)

©) wefli gyl 1 @pFuwr (UTI)

D) @psw Guimsis FTfC (hoapsbd (GIC)
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175.

Assertion (A) : Since the introduction of economic reforms in 1991, there has been a
qualitative change in our planning.

Reason (R) : The central objective of planning in India is to raise the standard of
living of the people.

W (A) and (R) are correct.
(B) (A)is wrong, (R) is correct.
(C) (A) and (R) are wrong.
(D) (A)1is correct, (R) is wrong.

aesflyy (A 1991- wpseb gy QuTEReTTSTTE  FrEiHSHHS6T
DIpFHLILBS S L FTe) HLog St 10BHS06 BV HTLOTET
LOTHMRIGHET 6T DI (hGITGITGIT.

srgenrid (R)  @)b&Sw S L 18BHHedest eoowGHTdisd  Losseres
UTLDSSHS ST HEOS DTS FHIHEVTSLD.

(A) (A)opmid (R) &)

(B) (A)&eumy (R) &l

(C) (A) ommyib (R) SH6umy

(D) (A) &l (R) Heumy

#
£

The first product to be registered from Tamil Nadu under the ‘Geographical Index
Registration and Protection Law’ is

(A) Madurai Malli

(B) Tanjore Veena

(C) Pathamadai Mat
(W Salem Sungudi Saree

‘gl srr GPuI® F b epeod  SUBPSSEOBES  LSey
O’ 1psed Quimmer wimg ?

(A) waIewT eved
B) H@hFTaYT & eoreuer
(C) wLSbSHLoemL L LT

(D) GaFevd i@y d GCraney t
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177.

Choose the torrect answer : :

Which theory brings out the relationship between the birth rate and the death rate ?
(A) Malthusian Theory of Population.

(B) The Theory of Optimum Population.

W) The theory of Demographic Transition

(D) Rostow’s stages of Economic Growth

Filwmer eflenL _eow Cxib0)HM0.

Spii) SssSpes, @i SssPp@n eor o pee elors s
Gar_um(®m

(A) wrTeLEFeT Los&seT OFTensds Casmi_Lim()

(B) 245w yerayd GarL ik

(C) waser Gsmens alerTTdFsG s 1 & Cami_Lm®)

D) CurewGr_mallest euen &) hlencvsaT

Match the following :
(a) Land Reforms 1
(b) April 1999 2. Employment Assurance Scheme (EAS)
(¢) August 15,1995 3. Jawahar Gram Samidhi Yojana (JGSY)
(d) October2,1993 4

(@ @® (© (@

. National Social Assitance Programmes (NSAP)

. The Abolition of the Zamindari System

w4+ 3 1 2
® 1 4 2 3
© 3 2 4 1
D 2 1 3 4
GLpdhgHeTL_cupenn Filwmsls OLIT(he &Hi%:
(8 1hlev 1. Bl () Feps 2 FNSFIL_ L _ID(NSAP)
Frr SV (& B hiIFH6IT
(b) aLugev 1999 2. Coueweveuriitiy o my&sH& 1 Ib(EAS)

(©) Yyserv(® 15, 1995 3. @ausT&lymb  GeueweveuTuiiyy &L b
JGSY)
Dy &G 2,1993 4. @lfersmir (pewp epLbliiyg S L _ib
@ b (© (@

A) 4 3 1 2
®) 1 4 2 3
© 3 2 4 1
M 2 1 3 4
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178. Which one of the following is incorrectly matched ?

w Prof. P.C."Mahalanobis — Il Five Year Plan
(B) Disguised Unemployment — Marginal productivity is zero
(C©) JM.Keynes — Father of New Economics

F o

(D) The First Planning Comimission #_ Jawaharlal Nehru
Chairman

BLp& ST Snfh DIFGTIGD 6Ty FAWTS Qmmhsedleveney?
(A)CUyr@AwrP.Cosegmiisv ~ Nlyeug LBsSTETRS L1 Lb

(B) Loewm(ps CeuenevuietTemLo

Qufow e pusHsPpds
g

(C) JM. Getreiv y&sw Qummeflwaeder spews

(D)Lp&ed HI L _SESH(Lp HEWeVeuIT aausrevred GrB(p

179. Disposable income = Personal income —

W Personal taxes (B) Depreciation

(C) Indirect taxes (D) Corporate taxes

Oeevall_g sGHwurer saflwells eu@pwreTtd =  Fesfloafls
GU(/HLOITGETLD

(A) eshl eurfl (B) CGauiomerid

(C) LoD UPFHUTEHET D) FHmreuesmserfles eurfl

180. Who is the present Governor of Reserve Bank of India ?
(A) Mr. Y.V. Reddy (B) Mr. Rangarajan
(C) Mr. M.K. Narayanan W Mr. D. Subbarao
sHCUTeSW M&rel eukiSuIesT @hpT Wi ?
(&) HmYV. Qg B) HB. JHEIFTTEDGHT
©) & MK g/TUITlLIWG&T D) & D &FLiTgme
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181.

182.

Select the answer from the given options :

The Indian economy is characterised by , e
1.  Predominance of agricylture. 2. Predominance of industry.

3. Low percapita income. 4, Massive unemployment

(A) 1and?2only B)_ 1,2&3only

(C) 2,3&4only 1,3 & 4 only

Qé@@/@wmwgyﬁsﬁ@ggu LFlenev G&irb0)H(H&HeyLD.
@BSwL QUITHTTSTTSBT 19 LitieoL_ @wevl_/a;m
(1) Coeuenmessrenioudley (LPSHETENLLG HIGHD

2)  Q&Thgempuied (LoSaTEOLD

(3) .. GEODBS HEUT GU(BLOITGITLD

(4) s gerey GasemeulleTenLn

(A) 1" &2l (Hib. B) 1,2& 3w (Bb .

() 2,3&4 LoL"_(PLb. (D) 1,3 &4 oL (RLb.

A man earns T 24,000 as monthly salary. His expenditure and savings are given in the
diagram. How much did he spend on rent ?

(A) 7,200 (B) % 3,840

(C) 2,400 ' 7 23,360

%@@Hﬂﬁ'ﬂ . TG QUUBLOMGTLD  eUME  24000. 9yeu(hEDL_W
Fovallerupd Cabllliyd L g&ev O&HTHSSLILIL (DETET &l 6T

uUTL_e5dh@ OFevalpd GFTend wimH?

(A) e, 7,200 (B) erm. 3,840
(C) e 2,400 (D) em. 3,360
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183. From the following graph, the percentage of increase in sales from 2011 to 2013 is

35 +

10
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1
1
1
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-, ————————

I
!
)
}
T

2008 2009 2010 2011 2012 2013

(A) 15% ®) 30% o 100% D)~ 200%

Gp OFTERSSLILIL_(HeTer eueny L SEHe0lwb s 201T 9ya8siq ed(mb 5
2013 cuevgd&Ter aflhLeoet yH&ALy FHefHLd

.35 4

—
w
.

1
1
1
|
i
'
¢
1
1
1
1
1
1
1
[}
1
1
|
T

[

i
]
1
1
i |
T T

2008 2009 2010 2011 2012 2013 /7
QI(HL LD

(A) 15% B) 30% (C) 100% (D) 200%

184. A pie diagram is drawn to the following data, then the angle of the sector corresponding to
Mathematics is

Course Number of Students

Engineering 440

Medicine 220

Agriculture 160

Economics 60

Mathematics 80

(A) 15° & 300 (C) 40° (D) 80°

EpOIsTHSSLILIL_BeTer eflougmFEhsd @h e (pie) ILIL_LD
U BTV &HaosllsbFDsmer eul & GamewrliLigGulstr Csmessrid

o
LITL_ID LDITGSSTGM/T SHGIT g
GT GBOT o1 6

Qurplufwet 440

LO(Th S @ULD 220. '
GeuaT TS TehLD 160

O\ mewed 60

FHG6TIHLD 80

(A) 15° (B) 30° (C) 40° (D) 80°
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185. (1-1/3) (1 - 1/4) (1 - 1/5) ....(1—3 -
_ y 5
(A) qu 4 5

2 2
(®) a(q_l) (D) q(g+1)

16.12 x 16.12 x 16.12 + 13.88 x13.88'%13.88
16.12x 16.12-16.12 x 13.88 + 13.88 x 13.88

186.

(A) 16.12 (B) 2.24

d) 30 (D) 20

187. The price of a chair is increased from ¥ 2,100 to X 2,520. Find the percentage of increase.
(A) 15% ‘ﬁ 20%
©) 10% ' D) 25%

@5 BrosTedludetr eflenev emuimis 2100 ueSimpb g et 2520 %
DG &G Fy6iren & eTafley & HMES flewev FEHATHEHMBS FHTEETE.

(A) 15% (B) 20%

©) 10% D) 25%

188. HCF of (x2 —x), (x - 1)?is
A - ®) (17
(€) X -x D) x(x-1)
HCF of (2~ x), (x - 1)* -at7 LBLIQ s Qi &y&&myessh)
(A) (x-1) ®) -1y
€ »X-x ! D) x(x-1)
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189,

190.

191.

The traffic light at one particular crossing changes after every 40 seconds. The traffic light

at the next crossing changes after every 32 seconds. At a certain time they change.

together. After what time will they again change together ?

AA? 160 sec (B) 80 sec
(C) 300 sec (D) 120 sec

@@  Frewwlsdy oerer GurdGarss Heared allerdg 40
NI TLY HE@HSHS R(B (pep WTDFDLE. BHSS FHSFLSs0 2 6rer
Cursseugs s Fsared oflardhe 32 NQTT)HEHES RUE  (LLED
rmiFng. @uaw®h dardsgsenn @Gr GrrsHley Lomplermey,
BB gyewau @rew@b @Gy Crrsle wrneshe oT6SH%
QIS TGT@HLD FTGVLD GTEUGUGTEY?

(A) 160 aflesrTeg. (B) 80 &lleoriTig
(C) 300 &flesrrig (D) 120 &dlevrrig -

The greatest number less than 10,000 which is exactly divisible by 48, 60, 64 is
(A) 9000 & 9600
(C) 4800 D) 960

48, 60, 64 eV euGLI(BILD 10,000 g i GewmeurTer, LOlHLIG) LMW
676U

(A) 9000 (B) 9600
(C) 4800 (D) 960

Ifa:b=4:1, then the value of\[a/b +\/b/a 18

utp 5/2 (B) 4 .

<€ 8 ®)

N [ W

a:b=4:1erasfleb \fab +/b/a—atr LBy

(A) 52 B) 4
© 8 o 3
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192. % 1,245 is divided among 3 persons so that if ¥ 10, ¥ 15 and ¥ 20 are subtracted from their
shares, then the ratio of their shares become 3 : 4 : 5. Then their shares are respectively

(A) %415;%310;% 520
(C) T 415, 520;F310

(B) Z310;%520;% 415

@9 T310; T 415; T 520

A uiledlmpb g 510 gouwyib, B eSpb gl €515 gouiib Cedlubbgi ¢b. 20 gujib

SLOIGEHTCV, 6T HET
Gsrens (penrpGus

(A) . 415; e, 310; ¢r5. 520
(C) em. 415; em. 520, erp. 310

193. The missing number in the series
2,6,12,20,30,
(A) 56
(C) 46
(B _L_ GTGIT &HITGIT .
2,6,12,20,30,
(A) 56
(C) 46

194, If1+2+3+...... +n =K, then
PB+23+33+ . +nd=
o «

©) K!K2+ 1)

1+2+3+...... +n=K oreflev

QL miLh
@)pEG Ly el245 gt ASST, @e0eUT(HE(HLD

OgTenssaner fGHD 3:4:5 6168 M)
O myib

(B) em.310; erm. 520; emp. 415
(D) e5.310; er5. 415; er5. 520

B) 38

o

(B) 38
D) 42

(B) K3

D) (K+1)

PB+23+33+ L +nd=atr wHiy .

(A) K2

© S5

CCSE
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195. If a clock strikes once at 1 O’clock, twice at 2 O’clock and so on, how many times will it

196.

strike in a day ?
(A) 78 wf' 156

(C) 178 : (D) 256

R SYSTTD RUBLLEAIESG @@ WPoD, @IETE walisE @)
e, 6Tty  (peopullsy Loawhl edsEng eTefled @ Hrafe
QDTS BLD 6THHemesT (Lpeon Loewwl epedldh@&Hib ? '

(A) 78 (B) 156

€ 178 (D) 256

There are five colleges in city A and number of students enrolled is given in diagram
below. Then the percentage of Science students in college 4 to the Science students in city
A ?

s CITY A

Z(; 45 Arts
%‘ 40 40 | Science
5 ..
g 35 30
= 30 g 25
= 25 /
220 %
-?3: 15 V
Y Z

o L 7. 7 Z.

College |  College 2  College 3 College 4  College 3

w? 10% (B) 20%
(C) 30% (D) 40%

A erettn BEHTSFeOle6Ter 5 FeveurhHefley LuNeId LoTessTeuT HemaeT
aleugiiser Gp o2erer eauenguUL_GFe  O&TRSGSLILIC (HETETaT.
BEID A efleb Luleyid gyflefwich omeeutsensy, sevard  4ev

LS eyd mlefNuey mesreuTsaflest FEaTsd  ?
CITY A
50 ,

ig 45 Arts
§40 40 [ Science
o
£ 35 30
= 30 / 25
Z 25 /
*2 20 7 /
S 15 / 7 %
=
ot N _ Z

. Z Z Z Z

College 1  College2  College 3  College4  College 3
(A) 10% (B) 20%
(©) 30% (D) 40%
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197.

198.

199.

200.

~

A sum of money double itself at S.I. in 10 years. In how many years would it be triple
itself ?

(A) 30 years (B 15 years

(C) 25 years @ 20 years

Rp Ogreoswrerg saflu iy ofssFd 10 yaThisems
@)pwoL_msTarTed 9F56sTE 9GCs  saflau iy  af5s5Fe
UPLDWL_EIS TS 6T(hS HIHOIHTGTGHLD HTGULD GTGTGT ?

(A) 30 eu(pL_IBIHeT (B) 15 eu(pL_rAI%HeT

(C) 25 eu(hL_raIHeIr (D) 20 eu(pL_raIHeT

T 800 at 5% per annum CI amounts to ¥ 882 1n

(A) 4 years (B) 3 years
2 years (D) 1 year
e5.800 Yyarg 5% i (B eulig eT$SHFev 5882 Y& TR HIS
QIFETET@HLD HTGLD BT (HSFGET.
(A) 4 yeEs(hseT (B) 3 yesr(hseT
©) 2 yessiger D) 1 6w

12 men or 18 women can do a work in 14 days. How many days will 8 men and
16 women take to complete that work ?

(A) 10 days W 9 days

(C) 12days (D) 11 days

12 9e&elr gebevg) 18 Gleser q@p GCalsnsvenus 14 EITL_&GYﬁGU
OFwieurr  erafled 8 gadrsH@mHLd 16 @um&@w Cerrbg b
Covevevenws THHenar BTL_Fafley (LpLg L1 ?

(A) 10 BTl &eir B) 9 BTl FeT

(C) 12 mrL_&eir ®) 11 BTl _&er

There are 2 examination rooms A and B. If 10 candidates are sent from A to B, the
number in each is the same. If 20 candidates are sent from B to A, the number in A is
double the number in B. The number of candidates in room A and room B are respectively

100, 80 (B) 180, 100
€) 20,80 (D) 120, 100
A wpmpib B ettty  Quew(®  Gsrreuenmaertley A 6TesIm
yomuiled(mb g 10 LOTesTauTH6T B&H@ yeyUlil 1 mey @)reser(h)
Sn&Fafley 2 6TeT LoTeRTeuTHeMGH eTeTenfldend FLoLb. Beb (3)(hb S
20 LOTGRIQUTHGT A GTGHMN YOME@H HSYLIILIIL [ _T6D A D GIT6T
LOTETQUTHET Beh 26mer iomewreursenerss Gumed @Y Lol /G
eTafley A, B _je0m&Harileh DG LOTGSRTUTHETIGH 6768516801 %605
wpeonpGuw
(A) 100,80 (B) 180,100
(C) 20,80 (D) 120, 100
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WpSHEW ymlayeny FierT
1. Qs erTgGgTeLy s Cuarmpeaw (RESL Ldssams)d CaramBarers. Carey GISTL _A@LD
BréSled aflenTGsTGlienLd SDEHE@GLLOLILY. KT ST ILITOTT dnpib auenguisd Coguenpenwd
Spésd s mg SarrsQsTGLienud Hpd@ibugwmar GlFlens SHawamesioumerme UAyss
Quppaj_ett Gugyempuienr e giyndens Fauerors Hfisss Snsds Ceustw(Bb. ysHer e
Caeralls@nse e welldssd G&TL_E&emLb.

2. @uss aennd G 200 efeTrdsenerd Gamam(ReTer gl eflen_wefss @HmL_rk@wpes @)arelarTd
Glgm@riiad eeweur aflewrmds@nd @ b GuUbhmiETETETIT TS D @)eni_uleh & &b
@6ud MISEHTTFHGT D GHETOTCUT TETLMBLD FALMTTS Fi5 QFmerearaytn.

3. adavew eflarTEEEREGLh e well&sayib. TvevT MaTTHFEHHGLD FLoWTar L& LG 6T &6l
Gl reiL_aner.

4. s AFEEenLw LR erdwevesy @bsL usssBer @i s Cuevepameulled oFHblsaT eI gieTer
@B_gFeb phuser Tups Couadn(Hib. Goumy eTenguid oot GBTGHLIIG 6T(DES Tt T H.

5. dilen_senend GFflssid ST L TN, eNeHL_ ST QET N 2 AFGHES FETSTwRlILTer T SEMUTSE
STOILED. aflonL_gamaflehs (pFsd USEHFE) o Mmsenemw Fey Ty, Gluwrr, efewmTdLsTELY
auflens eretar (SLNo.) wop pub Ca' Gerer aflurdisenar Bhssr erieps CouamrBHib. sayplerTes o figor sy
afleni_SBrer GlFsbeuTE ST Hai(Bib.

6. admsenen_w ey eraiw, CaTaydsmer eraw whHpib elarrsg@sr@gly s erawm (SLNo.)
wpsweuhHanpuyih efiewr_ggremsh FITedmL mib LSSSHD YMUSEHEFTE 3 LhSleTer @) dimafe
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ertinguirulenid g Caarallsg @Cr e alen_eowgsrear Cosrb@s@ss Ceucdr(PLb. o AdiEnHem i
Qurgs wHuUGuarsear Fasdar e _darafedd @ildssd ST QL FRwrer aflent_saeflsr
aTagsrenufldiansenws QUIT DISE 1.

8. alen_gazmafled peaiQeumrm Csarel eawefip@g agMa[Al, (B], [C) whmibd [Dlerar mresrs
aflenL_dal 1L disar perenar, gn Cseralldeg ollen  wellds Fruger Ffbwer Fmgib aflen oniu @Cr

% aane & (_SFe w G Lk wpaarlt Cuenmellen ey @pldgis sl CouetiGith. epei&eurr(m
g&sﬁeﬁ)&k@m @ den_eows Csrpos®ss e dsrafies GpPlds Gasma@Ld Q5 émﬁrmﬁ?é:@
apatr mydi; Guopui’ L aflevL_wiahlgHmed Fs olen_ SQUDTRTSTSH F(HSLILIBILD. B GTTeRTLOTS [hhsar|B]
GTedTeng Fiwmer eledL_wiTHs: SEHeanmed Hans (IsTaumon gy &hidHe Fmit Cevela(Dib.

(A] WA [C] [D]

9. Fhumsw alenTS@EmEGist aipsl vdssmaun BEECeaum gyebevg FflEECeur s 5. Cpiray
Grosfled @bs elearmsGar@gilamarCur yiegy afengameaarGur Gsmayd s_seng ol B
Qeuafilies sTHSHF CeFdadal _Tg. Csire) (pypgliar Hhser omisErmiiu 6ol _dbHTenend
sawsrafliurerfie iy QsnEss ol Goustw@o. @eallearnd O@m@lifenar Geira wpuyheey e
Fruger o fisEhL 1 (RS &HiF GlFsbaveuLb.

10. gficiyseir TS iriiusph@ afenmd Cer@Ller sen & L&EFSHDE WpaTudsdeans o LGuITE S &S
Q& ETaTeVITLD.

11.Cuopasto.. alglsefled erangwmeng BSrflarTed Gaieumenentws oy GQeu@E@BiD BL_GUL).&enESEBHiS
o erarmas GEAEb erewr Moy miSSLILIBFND Si.

12101 apged 200 euenguievren eflerrdseaiey ymble angellsh QErTR&ESILL HeTer @GplULF6TSTa0T
(PLY QUIT GTSHITEHLD. :

13.60ar7s QBrGLLI afanonw @HuI_Carr, GPILIC BHG srlr_Geum s Tg).
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